HEAVY WEAPONS

DEFENSIVE VALUE = 10 (+2 IN COVER)
[Speed @ NO turn cnst} {Gunnery Skill @}
DAMAGE REDUCTION =

1 x 12.7mm HMG (360) To Hit: 2D8+ D& Damage: Mid

DAMAGE TRACK

—~ B | 3] BEw(X]

I UNIT 2

DEFENSIVE VALUE = 10 (+2 IN COVER) -
[Speed @ NO turn cnst} {Gunnery Skill }
DAMAGE REDUCTION =
DAMAGE TRACK

1x12.7 HMG (360) To Hit: 2D8+ D : Mid
meR—————" ~[ [ R B¢ BeRe« X
2y 2y aNELY

I UNIT 3

DEFENSIVE VALUE = 10 (+2 IN COVER) .
[Speed @ NO turn cnsl:] {Gunnery Skill @}
DAMAGE REDUCTION =

1 x 12.7mm HMG (360) To Hit: 2D8+ DU Damage: Mid

DAMAGE TRACK

- B | [ ]wEE [X]

I UNIT 4 s

DEFENSIVE VALUE = 10 (+2 IN COVER) .
[Speed @ NO turn cnsl:] {Gunnery Skill @}
DAMAGE REDUCTION =

2 x 12.7mm HMG (360) To Hit: 2D8+1+ D& Damage: Mid+1

DAMAGE TRACK

DEFENSIVE VALUE = 10 (+2 IN COVER)
DAMAGE REDUCTION =
1 x 12.7mm HMG (360) To Hit: 2D8+ D6 Damage: Mid

{Speed @ NO turn cnst} {Gunnery Skill @}

—~ B | 3] EEw(X]

- Unit Wiped Out - HMG - Short 1-3 (+1), Med 4-6, Long 7-12 (-1)
m Unit Panicing - reduce DV by 3 until they stop receiving fire.
= Charlie gives the finger - no effect
T Casualties - minus 1 to hit and damage.

- Ammo belt falls out of breech - no firing for all of next turn.
< Charlie gives the finger - no effect
E Cover Blown Away - reduce DV by 1 until unit moves.
o
Q

Charlie gives the finger - no effect.
Unit Breaking cover - reduce DV by 4 until they stop receiving fire.
Beacoup Casualties - minus 2 to hit and damage.
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DEFENSIVE VALUE = 11 (+2 IN COVER)
[Speed @ NO turn cnst} {Gunnery Skill @}
DAMAGE REDUCTION =

1 x RPD MMG (360) To Hit: 2D6+ D : L
X o Hi D& Damage: Low Y3 kY3 p k¥ - x
4 x AK47 Assault Rifle (360) To Hit: 2D4+3+D& Damage: Low+3 - Ay lf lf

DAMAGE TRACK

UNIT 7 I
[Speed @ NO turn cnst} {Gunnerv Skill }

DAMAGE TRACK

MIXED WEAPONS GROUPS

DEFENSIVE VALUE = 10 (+2 IN COVER)

DAMAGE REDUCTION =

1 x 12.7mm HMG (360) To Hit: 2D8+ Damage: Mid
1 3601 10 i 20813 ~[ [ B B [wEew]X

4 x AK47 Assault Rifle (360) To Hit: 2D4+3+D |0 Damage: Low+3 Sy Sy rSw

I UNIT 8

DEFENSIVE VALUE = 10 (+2 IN COVER) .
[Speed @ NO turn cnsl:] {Gunnery Skill @}
DAMAGE REDUCTION =

1 x RPD MMG (360) To Hit: 2D6+DyU Damage: Low
_ _ 37 St Tw RE X
4 x AK47 Assault Rifle (360) To Hit: 2D4+3+DU Damage: Low+3 - 'f lf lf

DAMAGE TRACK

I UNIT 9 s

DEFENSIVE VALUE = 10 (+2 IN COVER) .
[Speed @ NO turn cnsl:] {Gunnery Skill @}
DAMAGE REDUCTION =

2 x RPD MMG (360) To Hit: 2D6+1+D& Damage: Low+1
: _ —[ 2% S [Rew[X
4 x AK47 Assault Rifle (360) To Hit: 2D4+3+ D& Damage: Low+3 2w 'Sy 'Sy

DAMAGE TRACK

I UNIT 10

DEFENSIVE VALUE = 10 (+2 IN COVER) |
{Speed @ NO turn cnst} {Gunnery Skill @}
DAMAGE REDUCTION =
DAMAGE TRACK

1 x RPD MMG (360) To Hit: 2D6+ Dé Damage: Low
: ) [ 3 Sefa ] BEw X
5 x AK47 Assault Rifle (360) To Hit: 2D4+4+ )¢ Damage: Low+4 Sy sy 'Sy

Unit Wiped Out. - HMG - Short 1-3 (+1), Med 4-6, Long 7-12 (-1)
Unit Panicing - reduce DV by 3 until they stop receiving fire.
Charlie gives the finger - no effect

Casualties - minus 1 to hit and damage on all AK’s.
Weapon Jam - no firing Heavy Weapons for all of next turn.

0

E MMG - Short 1-3 (+1), Med 4-6, Long 7-12 (-1)
=

-

g Charlie gives the finger - no effect

=

[ 4

Q

AKAa47's - Short 1 (+1), Med 2-3, Long 4-5 (-1)
Cover Blown Away - reduce DV by 1 until unit moves.

Unit Breaking cover - reduce DV by 4 until they stop receiving fire.
Beacoup Casualties - minus 2 to hit and damage.
12 Heavy Weapons Gunner Killed.
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UNIT 11 IS

DEFENSIVE VALUE = 12 (+2 IN COVER)
[Speed @ NO turn cnst} {Gunnery Skill @}
DAMAGE REDUCTION =

DAMAGE TRACK

SMALL ARMS GROUPS

3 (O (O
4 x AK47 Assault Rifle (360) To Hit: 2D4+3+D& Damage: Low+3 —’| |",$| | |',{'” 1 “ |',{'| w |X|

I  UNIT 12

DEFENSIVE VALUE = 11 (+2 IN COVER) -
[Speed @ NO turn cost} {Gunnery Skill }
DAMAGE REDUCTION =
DAMAGE TRACK

(O
E2y

4 x AK47 Assault Rifle (360) To Hit: 2D4+3+D |0 Damage: Low+3 —’| |

I  UNIT 13

DEFENSIVE VALUE = 13 (+2 IN COVER) .
[Speed @ NO turn cosl:] {Gunnery Skill @}
DAMAGE REDUCTION =

DAMAGE TRACK

(V3 [V [V
5 x AK47 Assault Rifle (360) To Hit: 2D4+4+DU Damage: Low+4 —’| "€| | |':€” 1 “ |':€| |X|

I  UNIT 14 s

DEFENSIVE VALUE = 12 (+2 IN COVER) .
[Speed @ NO turn cosl:] {Gunnery Skill @}
DAMAGE REDUCTION =

DAMAGE TRACK

[V s s
4 x AKA47 Assault Rifle (360) To Hit: 2D4+3+D& Damage: Low+3 —’| ',€| | |"{'” 1 “ |':{'| w |X|

I UNIT 15 s

DEFENSIVE VALUE = 12 (+2 IN COVER) |
{Speed @ NO turn cost} {Gunnery Skill @}
DAMAGE REDUCTION =
DAMAGE TRACK

(0 (0 (O
6 x AK47 Assault Rifle (360) To Hit: 2D4+5+ D¢ Damage: Low+5 —’| ',€| | |',{'” 1 “ |',{'| w |X|

- Unit Wiped Out. - AKA7's - Short 1 (+1), Med 2-3, Long 4-5 (-1)
m Unit Panicing - reduce DV by 3 until they stop receiving fire.
= Charlie gives the finger - no effect
T Casualties - minus 2 to hit and damage on all AK’s.

- Casualties - minus 1 to hit and damage on all AK’s.

< Charlie gives the finger - no effect

E Cover Blown Away - reduce DV by 1 until unit moves.
o
Q

Unit Breaking cover - reduce DV by 4 until they stop receiving fire.
Beacoup Casualties - minus 2 to hit and damage.
12 Heavy Weapons Gunner Killed.
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UNIT 16 I

DEFENSIVE VALUE = 11 (+2 IN COVER)
[Speed @ NO turn cnst} {Gunnery Skill @}
DAMAGE REDUCTION =

1 x RPG (360) To Hit: 2D12+D& D ANQQQQ
4 : AK47 Assau:: Rlifle (360) To Hit:a:::i3+D8 Damage: Low+3 _>| |-)\L| I |-)%” 1 “ |-)3| w |X|

DAMAGE TRACK

UNIT 17 I
[Speed @ NO turn cost} {Gunnel‘v Skill }

DAMAGE TRACK

G & SMALL ARMS GROUPS

DEFENSIVE VALUE = 12 (+2 IN COVER)
DAMAGE REDUCTION =
1 x RPG (360) To Hit: 2D12+ D : All
X o Hi D10 Damage Q0O Ky KIp S x
4 x AK47 Assault Rifle (360) To Hit: 2D4+3+D |0 Damage: Low+3 - Sy Sy rSw

I UNIT 18

DEFENSIVE VALUE = 11 (+2 IN COVER) .
[Speed @ NO turn cosl:] {Gunnery Skill @}
DAMAGE REDUCTION =

1 x RPG (360) To Hit: 2012+DuU Damage: All Q Q Q Q < < <
4 x AK47 Assault Rifle (360) To Hit: 2D4+3+DU Damage: Low+3 —>| ',rl I |',€” 1 “ W |',€| |X|

DAMAGE TRACK

I  UNIT 19 s

DEFENSIVE VALUE = 11 (+2 IN COVER) .
[Speed @ NO turn cosl:] {Gunnery Skill @}
DAMAGE REDUCTION =

1 x RPG (360) To Hit: 2012+ D& D ANQOQQOQ
q : AKa47 Assaulc:: Rlifle (360) To Hit:a::2i3+D8 Damage: Low+3 _’l -)'cl I |-)€'” 1 “ |-)€.| W |X|

DAMAGE TRACK

I  UNIT 20

DEFENSIVE VALUE = 10 (+2 IN COVER) |
[Speed @ NO turn cost} {Gunnery Skill @}
DAMAGE REDUCTION =
DAMAGE TRACK

1 x RPG (360) To Hit: 2D12+ D6 Damage: Al Q Q Q Q
kY KYA kY x

5 x AK47 Assault Rifle (360) To Hit: 2D4+4+ D6 Damage: Low+4 - e W = W |ms W

1 x RPD MMG (360) To Hit: 2D6+ D6 Damage: Low

Unit Wiped Out. - RPG - Short 1 (+1), Med 2-3, Long 4-5 (-1)
Unit Panicing - reduce DV by 3 until they stop receiving fire.

Charlie gives the finger - no effect

Casualties - minus 1 to hit and damage on all AK’s.

Rocket is a dud* (change it quick!) - no firing RPG for all of next turn.

0

= AKA4A7's - Short 1 (+1), Med 2-3, Long 4-5 (-1)
=

-

g Charlie gives the finger - no effect

E

[ 4

Q

MMG - Short 1-3 (+1), Med 4-6, Long 7-12 (-1)
Cover Blown Away - reduce DV by 1 until unit moves.

Unit Breaking cover - reduce DV by 4 until they stop receiving fire.
Beacoup Casualties - minus 2 to hit and damage.
12 RPG Gunner Killed.
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I  UNIT 21

= ill = VER
DEFENSIVE VALUE = 2+ Skill =]y (+4 IN CO ) [Speed @ NO turn cnsr.} {Gunnery Skill @}
DAMAGE REDUCTION =

1 x Sniper (360) To Hit: 2D64D |2 Damage: Next Critical

SPECIALIST GROUPS

DAMAGE TRACK

~[ [ B BHX

I  UNIT 22

= ill = VER
DEFENSIVE VALUE = 2+ Skill =|3 (+4 IN CO ) [Speed @ NO turn cnsl‘.} {Gunnery Skill @}
DAMAGE REDUCTION =

1 x Sniper (360) To Hit: 2D64D |2 Damage: Next Critical

DAMAGE TRACK

~[ [ B BHX

I  UNIT 23

DEFENSIVE VALUE = 2+ Skill =|Q (+4 IN COVER) [Speed @ NO turn cnsl‘.} {Gunnery skill @}
DAMAGE REDUCTION =

1 x Sniper (360) To Hit: 2D6+D |0 Damage: Next Critical

DAMAGE TRACK

~[ [ B BHX]

I  UNIT 24

= ill = VER
DEFENSIVE VALUE = 2+ Skill = || (+4 IN CO ) [Speed @ NO turn cnsl‘.} {Gunnery Skill @}
DAMAGE REDUCTION =

1 x Sniper (360) To Hit: 2D6+D |0 Damage: Next Critical

DAMAGE TRACK

~[ [ B BHX

I  UNIT 25

= ill = 4 IN COVER
DEFENSIVE VALUE = 2+ Skill =|0 (+ Cco ) [Speed @ NO turn cnst} {Gunnery Skill }
DAMAGE REDUCTION =
DAMAGE TRACK

1 x Sniper (360) To Hit: 2D6+D& Damage: Next Critical
- | ~[ T B REEX

- Sniper gives up and goes home. - SNIPER'S RIFLE -
m Unit Panicing - reduce DV by 3 until they stop receiving fire. Short 1 (0)
= Sniper MUST move next turn. Med 2-5 (+1)
T Wounded - minus 1 to hit and damage. Long 6-9 (0)
_| Sniper Changes position - no firing during next turn. Very Long 10-12 (1)
< Sniper shouts "Imperialist Running Dog" - no effect. yLong
E Cover Blown Away - reduce DV by 1 until unit moves.
[
Q

Sniper MUST move next turn.
Badly Wounded - minus 2 to hit and damage.
12 Sniper Killed.
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TRUCKS

I  TRUCK 1 I

DEFENSIVE VALUE = 8 (+2 IN COVER) .
[Speed @ NO turn cosl:] {Gunnery Skill @}
DAMAGE REDUCTION =

DAMAGE TRACK

—~| Bz] [l [X]

I  TRUCK 2 I

DEFENSIVE VALUE = 8 (+2 IN COVER) .
[Speed @ NO turn cosl:] {Gunnery Skill @}
DAMAGE REDUCTION =

1 x 12.7mm HMG (360) To Hit: 2D8+ D& Damage: Mid Y Y3 v
5 x AK47 Assault Rifle (360) To Hit: 2D4+4+D& Damage: Low+4 —’| w |',€|@| w |',{'” 2 “',€|E| W |X|

DAMAGE TRACK

I  TRUCK 3 I

DEFENSIVE VALUE = 8 (+2 IN COVER) .
[Speed @ NO turn cosl:] {Gunnery Skill @}
DAMAGE REDUCTION =
DAMAGE TRACK

([ (0 ([
8 x AK47 Assault Rifle (360) To Hit: 2D4+7+D6 Damage: Low+7 —’| ',€|@| |',{'” 2 ",€|E| W |X|

I  TRUCK 4 s

DEFENSIVE VALUE = 8 (+2 IN COVER) .
[Speed @ NO turn cosl:] {Gunnery Skill @}
DAMAGE REDUCTION =

DAMAGE TRACK

~[ [ [s] BH=EH] X

I  TRUCK 5 I

DEFENSIVE VALUE = 9 (+2 IN COVER)
[Speed @ NO turn cosl:] {Gunnery Skill }
DAMAGE REDUCTION =
DAMAGE TRACK

4 x 12.7mm HMG (360) To Hit: 2D8+ D& +3 Damage: Mid +3
A Y4 A Y4 A Y4
—~[ Bt [23HwBE] [X]

IS  BEOWSER I

DEFENSIVE VALUE = 8 (+2 IN COVER) .
[Speed @ NO turn cosl:] {Gunnery Skill @}
DAMAGE REDUCTION =

DAMAGE TRACK

~ [3]X]

CRITICAL HITS

HMG - Short 1-3 (+1), Med 4-6, Long 7-12 (-1)
BOWL 2 D4

Truck Blows Up - Dramatically

Radiator Hit - reduce speed by 1
Casualties - minus 1 to hit and damage.
Charlie gives the finger - no effect
Heavy Weapon Jams - if no weapon then Charlie gives the finger
Lose Wheel - reduce speed by 1

Driver Killed - No movement

AKAa7's - Short 1 (+1), Med 2-3, Long 4-5 (-1)
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